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Quiz 2 . .
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1) (2 marks) Which of the following salts has the greatest molar solubility? , -5
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2) (2 marks) The pH of Mn(OH), at 25°C is 9.53, determine the K, of Mn(OH),
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3) Cu(s) | Cu*(aq)(0.50 M) || €105 (ag)(0.35 M), H*(ag)(1.0 M) | Cl,(g)(0.75 atm) | Pt(s)
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a) (2 marks) Write the balanced chemical equation for the reaction happening in the cell?
( CUD=C " (65H) +2 >'>¢
2010, (035M) +bH (1) + (D5 == CL, (05 am) + b0 %
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b)(2 marks) Determine E. for the given conditions.

(0.5 m)
5 9

[0 ZS’) Xw()i} . EFE%@DS?[WA [“'93(0‘/63/”5 - f [57\/
L 17;'3 o

¢) (1 mark) If Eeq for Cu®* is 0.337 V, what is E%,eq for ClOs* ?
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